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2
1) What are the 15 ladies that are (37°M1% NXY ,37°M0Y) 022 78°501 00?2

TR IR (X MwR 5w anana (1 (1NDNRN) N2

MWK NI (2 man (7 N2 N3

TRD VAR NWR (3 NN ox - (7 1N

WA 777 ROV PAR DR (T ™nar (0 (ANWRH ) MWK N2
N3 (1 MR MR (0 MWK HW 7332 N2

2) What is the case that one of these ladies also N5 the N17x?
0°12 X922 PIR NN NONR TWR 191 AR PAR? MKW 1R NIV N 'R IR N2 Ywnd anoa
.012°% INWR 1

3) What would be an exception where the My doesn’t 7°vd from 012°?
NRA MNP a7NP MAva ann
PR IR
AR NN O7IP awHaAn
NPNP7R NRYNI

4) Which cases of N1 is it not possible the n 117X Hw wo?
Panar (3 pallaly
179° 720w 110 19K 902 aven (7 AN O

Bu)

5) What is the case that n1"7¥ can 7°v5 also 7°N17X MAX?

DR "M% 02°°7 0°12 X922 J2IRT DAY ,NONR WK NYAY YW N2 KXW J2IRT Q1R A WOW A0
DIMWD 1NWW 2°12 X929 DY DOAR WK 191 D27 DY

6) What is the case N1y MAWBW all 22w7 M0 TV 77°MIE MI?
O3 0°12 K92 N1 NANR AWK 121 0KY 7827701 N2 5w 00K 28T 1 200K T v P
...7TIOR3 717%5
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7) What is the din of the 77% if the 7y was able 1815?
TV NIE NOROIW 1190 NR2ONN KT L1277 ROR QPR 02701 DR TPV PORIT DX

8) What is the w1 of these n1y?
N2 wwn (3 [(5°w] Y ok Ty nan
rivkirieR lalv)

9) What is the reason for the order of the 71wn of the ny?
1% 7302 2009 9 77 AWR MAR "R PR waTR TINRIw 10D a20anw a7ip 2 7'
ahtalalakhiahrliv
70 MMNT A VPIY 1Y (12 N2 ,3N2 N2 ,IN2) 2°00 XYY NP2 MNP VPl "IponY
(Yam aRY NI ORI, INNAN) MWK 72917 MMNT '3 2"IR INWRA 707 M7 A BRI I
7277 "IN INWR MINR VP TR 0K 7IRT 23R (WK MIARY ,INIAR) WXy Map 2R
2 M 1R A N7 A"YR) (M2 700 KDY AR DWR RN PR DWR) YT oMY
(7% VP IR MOOR N2TAW 1% ARTPA

3

10) Which n1v are clear in the Torah and which not
AND1IRA N2 YT WD NPT 53

11) How do we know 19*w2 102 ¥ X273?
NVAMA AT — AT W' INWRA N2
INWR N2 737 — 737 W' IN0IRA N2

12) Why did the 71wn say 17°n17% M0 and not MNDIXR?
X0 AR MWD "R AXOPn2 M2 9aR 212777 MR P11 7'0

13) Why didn’t the Rin say Y121 mMoK?
MY DIPR2 ROW W'D M¥N 01PN INIX NNOIR MY 70 2"
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14) Why did the Rin say 2127 121 7%°5057 127
X0 72 12200 AW 20 M1 10D 212n P 7" TIN? 21207 1 MR Ok (R
7Y% MR DIRW RARD 10T TIND X000 MM AR K7 23 a¥°Hn% 01 o7 KL (2
Balanilr

15) What are we vynn from the N0 oK ... WY wnn 1°1n?
NPNHPR DX AYI0 DAY LYAR DR "N 27 Y PRINY (R
WY TN NAXY NIRDA NIY VYRR 7T 120 0K "N 27 ok (2
INWITA TR NIX IR NINAN NN R 'R 20D 127 0w PT7AR 0720 K R (4

2
16) According to "oX " 27 why doesn’t the Xin say N n2»X) 7vI0 can wo their

max?
AD°IRA D2 HY TR AMOKRY) 77X NI HW MW0OT 2 W PRT D (R

17) How do we know that 02>°» n1Mvd 22197 707X NIXY 707X AWK MNK?
— OV D71 01 Y MY MPAY 70XY AN RY MR OR WK WK DINRa 2000 (XK
TIIOR RO MR DR AR [0V R 9020 100
17357 27 e (2
XY XY MDA 7% anE nE (3
(727 02 ... AP IR T2 (L) "a) (T

18) How do we learn out the n17% 7w of other N™y?
AX 709X NI 212°7 770K NRLA TN D73 2O2PM T RIW) TWR NNkn 2T (R
(.2
(.n) >777% YW Do W M T wpean (2

19) Why don’t the six M7 Ny also 17°N17X MN0IR?
PARY RWINW T 1R 2R (R
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20) How do we know N7 w11y 7n7% W My 02»naw?
N0 798I "Maving” "on" vy WK 9

21) Why without the w"m of %-71°%v I would say 02nn WX Nnx?
TMT PR WYY NI2 AWK MR WO 02 OMTY) AWK NNk YW 0" amT 012 hw nwy
(Mo ww "
WY MY XNOYA KT D02 12 W 5"YR NAW IMT 2R 71200 PRY NAWH 101270 AR 712°0n
MY NN OPPY 2120 0120 2RWA TN WO N7 IRYT MPY NPT 110 2 ww 0"
%001
WP R O101Y 7199 TOIX MIMOT NID 72 WOW NAW M7 IR WIPR 1127 p109n
7291 1"R ThY 70 N7 7Y IMTIOR 72 MNoT TR IR 70
7Y 9999 11177 2120 0K OR KXW 190 0T RN NPT 90 9902 7907 IR DWRA TIN99
W52 21377 WY
MNWORY ORI 10MR PIOOR "2 WO 5"YRY 02NN WK NINR AR MR NN IR NWRY 727
O"RY N7 "R WA MOORT RAWD (AR PWRIT NMORT NI N22WD P AT DY
TNINR O RWI 2"ARY 1Y NAA AR RWIWI P TN OV 21007
7777 NI D WP A1 T WA AR NWRA 00717 707 R'YOR
N5 12 WO 0"Y W 1P PI0D TR PR 1AXY YD 1R R

g
22) How do we know an 7wy can push aside a nwyn X??

7% AWYN 0°9°73 — TILYY w2PN KD NIDN0 — ORIV 12

OND 77w 2°NWDY TN DR IRD AR INA IR IONAY PR P 200 PUIITT AT 19

XOWP 1777V DNWOY 1A% 1R 09732 ONOW 11277 DaR .2°NWOY n¥A 0072

TIW IPRY WY TMT WY P TR PR OWMT WRIT NOPT YW Awyn RY M7 yIRn mva

WX Nopaa RNV 0wt 902

1717 922 2R 92 MW IPRW IR? 217 2" AR T M Hw n"'Y amTw 100 ¥Rn meoan

7"07 922 MW IPRW IRD? 1OR TIY NPT 927 MIWH IRYY a0 2RI D22 MW IRY IRD

QYW WYN R 07 R M0 NN 107 712077 119D
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D12°0 110 9P PTIT WD WPTY 11 Hw n"Y DR YD MO amTw T VIRn mvan
117°01 DON? HRWOIY

WOW 1170 PR 2°RDD N TIND2 2127 ANTR 1R 2°NWOY N¥T 11277 03T KA 7
DOV 17327 TR T T2 WYN DX 211027 WK 7 72 IWYn 299073 29037 I
VA NI2OTN SNWA NIND2 200 2WNI PRY I8 70T VI 1IN0 W

TN 21T PP0R NI — MV — I 1T TIVYWT RN 22TMPW A"YR NONvn "Tuyw" m1p0nk
I — "NV — MW TILYW PWOR TIND? 2127 2" 2901m0 w7 A"

23) How do we know to 1°21m0 1w17?
WM NHRA DMWY aRIWH Y9 0010 — MYHR "

24) A nn2 who’s 02’ is a 1w 721 do we make her do 212°?
PIY QMR 12W° 97 7°% TR0 WPT2 MW 10N KD 2210 JWIT — KD

25) Where and when do we 7210 1w17?
7707 92 ORTY 12
N WY IR 9 AWT 02T WIn AT

26) How do we know a npwon gets 72°p0?
NN NN A2 OV 2910 9% — 75w NIDMD KTV 12
79°P0 072 DWIIDAW SNWTN 1IXS WY T

27) Are you allowed to marry 132 IR 12X nN19M NOUR?
M PN
...P2X NN 1PAR 71D 773 K1 MOKR 37 M

1
28) Why are both 2’105 of "9¥ 17737 OR 1Lyw" — "nuyw wabn X2" needed?

NPXOX2 O°RHD NI 0010 TP 7'

.NI02 57277 FPIDRDY TIOR 7RI 72 WOW WeA? XP1T — TI0YY w2aRn RS -1 :m1ponk
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TOR NUYIA IRITT ARV 1OR — TV 7Y KD -2

29) Why does the Torah have to specify 110¥w is 2°nws1 X we know from 2°¥a1 a
732 refers to o’ nwoY Ax?

NPYOXA QORHI PN 00010 WNTe K™ (R

DO NWDY IM¥A RIT DORYIT 71D T°IX 2°NWOY MY RIT TA2 101K RDT 120 11270 (2

30) From the 0m>732 515 H¥ N°X¥°% 0777 W 2105 would we be n°¥ %2 o°RkH3 7 nn?
P7 1N INWH 7322 IWOK "MAT AT 17°NAY 120 2°NWOY MY TA2 ON0T YRYAYS ' 027 RinY (X
X 732 DY XPIT NN WD

31) Which clothing are n1x°¢2 2n?
oM 92 11277 (R
D NWOY A% P PRYNY® 027 RID (2

32) From what material do you make the n1x°x from?
D192 ROR 101D PR 0°197 IRWY D12 ROW 1°21 D912 1°2 701D 2 NWwY 12X VI 13270 (X
WY 0°NWOI X 0N P9 DRYAY 1 027 KINY (2

.1

33) How did we want to learn n"% 7m7 nwy from ¥118n7 wRI7 nopn?

AT WRY DR — "Yw 92" 22027 I WOT DOWRI NRD 10PN K AT YR M7 ann (R
(D°W12 RNPD) 202 MW I1RW WY T 1100 18I TINDY PRY AT

34) Is the Mo°X of W& nopi if you shave off all the hair?
1IWW 92 Y2DR 9P AW WRIT NOPR YR MATY WK TIRW 7"0 (R

35) How did we want to learn n"% 7m7 nwy from 175 y%7 127 m2°a?2



N2’ naon

193 70 927 MW IR T IRD DAY AR 23 K? DIPT NRDY HW IRD AMT NN MR ann (X
DRI MRI ROW 0TI IRV ANAT 7O MWD PV TIN 93D MW OIRY IRDY TIVER KDT
JIMTIR D09 MW IRY IR AR M17N° NNXR 12701 2937792

36) The X3 wanted to learn out n"% M7 AWy from 11 ¥71¥n M%) which is am7
the XY of ¥71¥7n ww m», how do we MPWwWoX it?
TIRD IRWY 79D PR 1711 99 DRWOD 711 7100w 1190 (R

91|
37) Why don’t we learn n"% nm7 nwy from the mM>0 of N1¥X to 1LY even like
the 7121 since the Torah says 2°2°72 and not n°x°x?
W 9222 PINUWI ' 29T LIV DOV CIWHR MIND IR DT 20N P17 2907 TI0ROR (X
Ehblalvg

38) What do we learn out from %°ns?
1907 oM DT Ay (X

39) Why don’t we say 171 is extra and now we can 122120 1w17?
T12°77 MD°2N NW 721N 7192 TR (X

40) Why don’t we say 110y¥ is extra and now we can 7°2120 w177
(7RD 2NIR) N (7 2MB) MY (PA0HA DRI 2P1N0) VI WINTY T0RR (R

41) miponb the X7mx says we learn out since the Torah writes 110yw and not D°X75
explain the 7wA7.
TIN-N0-3W P77 2"3 TIADY AT TV WARY A1) 0°01M02 O°RYD 21007 910 10 aMna (R
X772 777 21107 2127 397 NI-MM0-3W TIM0R P X 707 OX)

42) Which nwy mxn are n2 72 wow 0" am?
noo (2 an (R
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(P2w) o maww N amT I (7 a0 (3

43) Why can’t we learn from the v1¥° that 28 712°2 is not naw am7. ['7 °IX] that
usually a 7wy is N72 12 Ww WY 7mT7?
D"RWN 2ART MY V92 NN 02P7 R'KT TIRN WO AWNIT AR 71297 NP TR TR (R
X°9112 TWOKRT 012% 1130 N

A
44) How can we think to learn out n"? 7m7 7wy from nNaw 7mM7 R AR 712,
however other 7wy mxn would be nm7 a qwyn X9, Maybe naw is " mn that is
why it isn’t 171 because of A 712°3?
AT PRT OYYI PRT PRIT I DRDIVY TR NIWT IMT ISR IR 71207 01 2070w D (R

A0 D2AWT W

45) Why can’t we learn from the 105, W70 “W7pm 17AWN *MNaw X that only here
an WY can’t be N2 HWw XY M7 but other places it would be 17?2
nAW: Y TPXW n RN DR NAW1A 11D TIN0 NAwL wIpn DWW wRiT Y RINA2 XN (X
WIPnn DY AT nn wIpna o'

h
46) How are you 0»pn the din of w7pn X7n?

INTIOD 12121 9P N2 AP 0120 KD (R

X>I710p WY KY (2

PP RWYP (3

47) How do we know there is a w7pn X711 2117 even 120 127127
Oy RPN WIpn 23 0w (Naw) X naws wpeaan (R

48) What do we learn out from 23°n12wwa 932 WX 172N X7 a 1DXAw M8 we know is
even YR yna?
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(722 >R Maww — Naw W) naw amT 7" 0 PR (R

49) Why can’t we learn from this "9° that normally n15 5w n"% am7 7wy only here
the 7"2 nn°7 AWV is a special v N?
197 NNTIw 70 (T’l‘ﬂﬂ T2WA T.'D) 72y M7 72 DRy L NAw amT anna amav 7''o (N
MR M7 72 Mnnw v amay

50) Why was the M0°X of 77w said separate than NMaRo» ©0"H?
nRY> P N1 Y (2 NRXY IRH? %01 " (R

51) What naw nax>» would be done if 7"2 would be 3777 on naw?
¥™2% 79 MR 79200 PIw0a HaR .NND 210w PO TR0 IR W NRYY IRDY 7Y (R
20110 W27 MWW N3 0K N

52) How do we know 772y am7 7"2 mnn
MY anpn oAt ava (R

53) Is mxn nn n712p push aside 772Y?
Rnwn NMIXH NARD 228 INMARY 8H0A 1779 1RT IR 2077 (R

I
54) Is mxn nn nM2p push aside naw?
AW 19w 95 7712V 219% NUNTIY NAW "R 772V IMT M¥n DY ,Naw amTw a1av"p 1'o (R
naw anT mxn
NN 9% WO "R 709K 2RI Naw M7 72 NN PRY 19YanN RY 22717 TIpon? 2aR (2
naw amT IR 772Y ImT 72

55) Why don’t we say nX nw& was included in all N1y and left the N1y 995 and is
012’ 23Pn2 A to teach you on all N1y a o12° n°A?
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927 5™ ROR (212°% AR NWR) N2 M (NI 9D) ORI KIT 9900w 1190 TR PR(R
W92 21377 WY TV 19707 112 9107 ANR ORW WIN D272 NTY RE D002 nw

56) How do we know n°277 p72 w7 n°aX there is no N1 2vn?
MWTR VYA N2 21N WO 1A WP ¥ 7YY RN DWIRn 22 D92 10T 2onbwn 7T (X
a7 P72

T
57) Why do we need a awRi1 nkuia 7 to tell us ¥yxn oWk needs 2K 2°17 101
a1 axo?
19927 17712 9120 0K ORY 2371 70 1722 07 101 W 0272 NTY YR QWK RO 19D (X
W52 21377 1701 D" RK

58) Why don’t we learn X nwX to other Ny from a 11°¥n 71?
DRI W R1207 AR DWR PN PR O"AT 100 NP IRWA PR 2 NaR I PR (R
TIWRIT NOORT NT 020 AR XPIT 2" PWRIT NOORT TR AR XPIT T INWR INWR)

59) Is a oy 72v of a *1p Hva allowed to enter n°277 77?
P H¥2 277 a1 901 207Y? MOR K™ (R
7217 7309 0120 K O 20w 7 1T 72 WTNW WIS D07 WOTT MOKX 1277 pAR™ (2

60) A y11¥n who’s 8" day falls on mos 27w and saw >p that day and was 9210 can
he bring a oo 12797 and what is the 770?
2O7YOWI MOD [PWN MINTA DY DT MDY TITYY 1T 0197 MIPI Ww Ty 7100 (X
MR DR WY
TR’2 DK 12°9K) N0 12 WO AWy D12’ KOW 012 AT NN 777 D12 MOK O Mavw 5"YR (2
IPY 03 1INT INYIRD NEPRA IR 1D 30 2ORIT 100K IR W NXpna

I

10
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61) A ymzn that his 8" day comes out on oo 27 and he sees > on *Pnw 9°7 can
he be 7107 for nos N2OR?
DWW PIPH NI INYIRD NN DRIT WD PRI TITH 1T 012°% 9120 PRY 1% 7100 R (R
NYIZ? MW 2P 1OV Pn IR

62) The X723 says another reason we need the 7°%y wp i of TWX NMINK to 012° and
we aren’t 012> 7°nn by all N1y what is that 712°5?
"NT511 A9RT MAVING DR WYY WK 92 00" T2 NIV 20 WpInT RIP M7 R 7"0 (R
PV 92 1T RN 0120 QIR ININT IR NWR? WP

63) Why are we w°pn all N1y to WX MIAXR to O12° 7°OX and not to nX NWX and be
012> °nn?

OWOPR RIMIMY RN RPY 9701 (R

TR NOR P AR DWR? 717 1KY AWK MR 317 2NOR A w0 1Y 9O (2

64) According to 827 who holds n12 ww nwyn X2 am7 Awy PR why do we need
"oY"?
(MOX 77X 7Y DIPNA 1PWIT) MmN DIPRa XYW 1% N (X

65) What is the p1»7 from the 71w that we don’t need a 109 to exclude My from
012°?
MMYs 0" N0 K’ 17°N1X MWD W1 7WY Wnn (N

66) Why don’t we learn from "7°%3" that WX MR is 7I¥M DPR2 KW NMK?
IR TOR? TIVXOKR M2 MAT AATY AR XWN K 712w 90 — 772 w7 — K21 (R
A
TNY MPA7 2°N21 ANNY O3 YRwn MK PN RY ANINR DR WK 2902 X201 aw2 R0 (2
MWK MAX P M DIPR2 KOWYT MMOX F°NW 7I¥7R 21PN KOR T0R TR P vnwnT
770K

11
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67) According to °27 how do we know 212°% 07X MY MOKR??
D12 MOMA 1AW PR W O P AR RIHR M2

:n
68) What does *27 learn from the "n" of np,1?
DMK OTIw MY 1070 TNXR PRY 07w Tfﬂ’Pb TPV PY

69) What does *27 learn out from "11%5?
7%°5m 21200 7057 PPON OF°IW 72°72 MNX WY1 NN Shwwd

70) How does °27 know m¥»n 2Ipna X2w My X is nnn?
ptaimib iz B bt

71) How do we know after 012> you can be w1 her and remarry her?
PP HW ' IR — 7329
TWR? 12 0P — °20

72) How do we know 212° is 712 even nnno 9va?
772271 5w 57 IR 7120
7Y X2 N2’ 020

73) What does 21 learn from 7°%¥ by 7w mnx (772 7may nvao)?
NV AL N2 AN7T RPITT 027 2797 192 709V — P9V DOTaI0
12530 W "avi nwRL" mwnn 00 07N
(M%7 Do AR W) 02T QYR MXR MEA W 20T XU 70N

74) How do the 1127 learn n72 111772 127 29V 191 1°Wm XOWI, T°7° MRLA?
1"Y9 ATINN D0 WRIT L. WO L. AAA WYY 009 970 NAR 77N 2000 1w XOw T
(707211 1"'Y2 2°057) DRLIT AW NI WM P PO
1"Y7 YN — 1Y DOTMY — NY OW 127 2vYh 19
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o)
75) How do we know 7177 7712¥2 230 you are only NXur 21 on N2y that 175 anTr?
027 09V 057 M1YR 1Y D72 MK L1 — 020 (R
(M%) HYA NN DT DR WO ORY 72011 1R W Rw T .2
DRV NMWT NI NI P PAw 1'YD 300 90 Wi mwn Rwl 0 .1 — 1137 (2
(T"¥n) S1YN — YN DMTMD N HW 127 07Yn oY .2

76) Which animals does a person bring for a nxvn?
YW IR 72w — T (R
YW - Xw1 (2
W-PIrN TR I (3
DROAY YWY 775 D — 17 NP2 a7 Yw-nPwn) X1 777 :0°2233120 NTIAY2] ('{

77) What does *27 learn from 037 7°7° nAR 770 (written by 1"V nXwn)?
M0 7YY AR DI 2R AW 1Y 17V AR Y 12 (N

78) Without the previous 7217 what 71277 would X271 72y *12?
(727 0%¥17 191 T9O) A2WH YWY NRVA? 7D (X
PN ot PR (2

79) Why does the 71wn only list “15° N1y and not 16’ it can include 12X 10X 1K
that will 7n7% °00?

MRW TV 11272 27 1PAR NOURA MOR DTR ATV ) NP0 WO 19INA RINT 1207 KD (X
1IRY RWION 1°2R NOUN

T2 RTIP IR 02 KOO M DW HHIT AT PR POW RDT 1D K27 Qw2 R1PAIP RIR M (2
TR N1MX 2 DIR O°AR ORT .NN2%NR IR DX NN RAW MR 12 10N 017 770K
712 NN

D20 TIWATT PYTA NP PW IDIND 12T K11 M W DI MW R? 027 ORIOROWR M (3
1727721 1K X7 777 'RY 1PARD XYY MNOKW N1 "1 73217 1°2R NONR ORW 7377 M0

13
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TIWNT 102 A 027 HY PRI MY HIAR 1PIAR NWR MW T2 PIAR DRIIT 192X NONRA N2TAY
7NAY DYDY 1IN NOIXR 1R

80) Does the Xin list dinim which are a np19m7 in the first p5?
7" w"a nPIPnn R2TT A"YRY W P9 PO AWITR MOR 1"Wn KD X032 PRI PN (R
7AW KR 7""2 2R WA PARD NINXT N PIvS
NPYPNRa 01707 09927 P02 BRI 2" I YN (2

81) What is the case of 1?1v2 17°77 X?W IR NWX can WD a 7718?
012 MR P2 D120 7P TN P2 1200 (R
79112 0% w7 7" 7O .00 7913 2''RY 02 AR 012° 2"'NRY T2 aTp P pvnw MY (2
ST 12 'R

0
82) X>°11 "1 says it is possible to find two sisters which are 012°% 7511 and can be 02>n
what is the cases?

'R XD MY T ORT A K2 (WN2) MWK NI Wwa DaR TR pa A (R
1P KD JO1IRY INOMIRD N2 777 2"RK 7D oA

MY 777 XYW PR DWRA XY DR TOIIR2 0127 3T MNWKRIT NPT Ww2 AR MR (2
12 2120 W T 1021 DM A w'R P17 10

NYAY "0 MW 7377 RPW PIR NWRA 23 P RI90 " 6

)

83) Why doesn’t 77977° "1 explain a case of 1°ax N0 WK that is 012°% Ho1?
0°727% 02NN PRIVOI2 PN 7772V PRIVD 2T 19N NOIR MR AR XWX (R
a0 TIT AR P 0°72T7R 7IWNA) MR TIT AR 27T 12 72111092 DIR 2Py PaR oX (2

84) Is it possible that 17X can 7n7% NWB?
0712°% NP9 IR XA PWITP 1080 X7 128 DRI 0% OX (N
MY NI N7XY 72 190910 PYATRY NAYID 1IAR NONX A0 (2

14



N2’ naon

85) If the brother who was Y21 was afterwards w7pn her does this lady 7% 2°05?
012°) 7%°51 912 PIRG 22007 KD 1 MY (R
12122 JMOKRY 119 79X DX POW XY DR N0 PARAY TMOKR X9 0207 1w 2MY (2
(InP RWI 12y ORT 197 19°0K) 21np KD 7"

86) If the brother who was 77117 or another brother was 71°9v X2 what is the w1y?
WO aNIX DY L7120 KRY W 732 ROW 1100 1120 KD WK IRDA P N2y Y Raw yownn M (R
X127 9V 03 DD TI0°R2 IRWI PART IR LN AR DWR 0N
TR 207 MMhWw vy yonw nxaT IR? p7190% anr ' (2

87) A brother did nx¥°5n and was nnx1on w7pn and he died does she need 73917
X7 9" (X
7Y%n 798 M M (2
799011 AR NWR MO°R PR D70 112 %000 750X PYITR KD 110N oonR nwaw M (O
MWK

%)

88) If one brother was 1nn2° v2°11 and another brother was wpn her is the Pw1Tp
on?
P WO 1°2) PRATRT PN AN M9 KD 2D NWRIT AR DI 7P 100 R nwTp (R
(XY
MW PYITRT 2T R? 13277 121 YRR M2 12 NWRIT AT DR iRy 1onw R awrp (2
MV 707 XYW 1IN NWR RO

X
89) One brother was 02 and another brother was 701 ¥ X2 what is the wiy?
IR NWR T109R2 2°1IRT 22K 7737 2V WY NMOOR W1 027010 P 5" 3 No R™ (N
72 27 2NRA 0N DN MY oWy 0aonnw 1AM "2 0N WY MOR oy P7N2vY XR'™ (3
7% Y wva
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90) 70 NIX can you do 012° to her?
(P2 72 IRMIV) NP21NA TR RNMIRT 700 2w 578
nna»nn (... 0°7 NPT T9YA T90) 13297 700 YW 0N

91) If a man was NWX? X1p» and she was MY 7701 what is her din?

(x
(2

AN 270 Anaw

77721702 770K ,79V2% 770K
nX,n ... avva nn

92) What is the dinim of 1nw1A 7°11n?
TMOR DRYIWA
rphieh@apaisalaimls)lalisRatnbRyiomhisk

93) A v 1s MR to her husband with how many 7"10°K?
(RN R 7IN0) WY P R™
(ARPLIT MWR IR ... PWRIT APV DIV RD) WD 03 WO K™

94) What is the din of nXwIw» 10w 710 NI¥?
027 AR IX DX AR PO W1 132791 ,ANm0 N0 — 2" 1R b
12 VYR IR (22°7Y) TNTX LYRR X7 TAVIN AR POI0AT 027NN OX POD W — d"2Y 1K
(7¥°911 03 7UDY) 7AYIN 77T AR
NMa™N7 AR 13279 a3 K™

(X
(2

(x
(2

(x
(2

(2

G

95) What is the din if it was 1°19% 1991 two N2> one is 133727 77WwD and one is 7109

which one should you be 02°n or y91n?
"YW 077 O°2°X DUWINY 172 01 QTR TIODW XPW) 771097 ¥R DAR AXPW 1KY 0277
71705 79019 a%OYna
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96) 02°2 naxmn what is her din and 7n7%?
02°% NIMORY 2°1IRY NMA 7P NW SRINYS
QOMIRY NN NIRNAT 22127 NN A0 P70

97) What is the din of nixn»n >na nax?
NN 707¥ SY22 7IRon
D27 NAXD NPRAIT 970K 02°2 7IR7A

98) A lady that was m1x°» is she 128 nanin?
NN Y22 TIRN
IN?22 N°KI17 770K 0272 IR

99) What is the din of n>112°X 12 NI¥Y NPN9°R NIx?
NN2»N7 72 7907 KL LA R 7700 HYAT 72 707 P0R M
TR 2PN ROW MY NAX T NN 12 7797 199K XA

=)
100) When does a 112 have 1m2° 1w np°1 and what is the din?
Mn2»N7 K21 NI TP NW DM NRA CIWT T2 WYY TR DY N1I01 2w B QORI 2R

(7°9¥ 2> 20 0mn TR DY) 1207

101) Where do we find a 717¥ can’t do 012 even though she is not My n7x?
0°N1 21w WK DAY
NP117°R NI¥ 0K "7

102) Why does the mawn say n°112°X W& and not NN 1°w?
NN ANIE MYY APR RITW 72 7000 KOW XPITT 00K M9
NON2°R 1w 0173 W K27

103) The following ladies are 712 wnwn?
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N2’ naon

2972 NWHWH N1 IR NIND DR NI 12yNnN Xnw 2™ T3 R nan aop
9710 772 WY KRAW N2WnH

N> 7112 93N N2YNN RRW AR

' QORND AW 71977 NWAYRA 1210 DM

104)Is it possible for a lady below 12 to be minn X9 7avnn?
*577¥ X" 221903 O 77 0212 TIP0ONT D

105) Why isn’t it possible for 1n1am Ry 10127 to do IR7M?
NAN SRT7 12NN 7I0R X7 OXT 7"'0
INAY 79127 1KY 721730 N2WR 779 OR 3P0

106) Why is a n1vp after 7% considered a 77172?
0°111°02 0°12
0°11°00 AW 2777 12 NWT 7270w XY 7" ANRT 0°11°01 79TV 0°12
(AT WX WY PYWIM) 2°319°0 K22 0°12 PR

2
107)How do we know 778 n9X is XM 0121 7ws?
e — a7 "

MR MY DIPAA X NIY O3 NYR MY 21PN TI¥ 113 X120 WK '

108) What is the din of the 7% if 7waN1 X 7w ANR?
TR NR2PND YA IR N MR 00X 01D
TMORY 720 ((9) 1apY Mawnm N 1nawnk ne Y L mawa ann 2"IRY %0 010
D201 DNWRIT PRYNIT
T AR T R? 7772 NPIWI DPAWRT P TIET DM MPAawn 2% Ra0

109)Can a m1vp 712 be 022 RMP1?
X9 70197 972 INPTY XYY 0N 70197 1IRNT NIRNA RYWIR M
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175w W°) 1IN0 NPRII 9901 NYWAT 1PAR? 70K DAR 02%2 PR YT vt 1" v (2
(5v277 °217p 927 770K

110)Do we convince a 71vp MY to be 1XM» in the 02° so the 77X can be 02°1»?
qapini )
NPT KDY 1IMRAT 2310 NRMAY ROVEIR (R
T NI¥D NORDI 9901 NYWAT 2w 11 112091 (2

oy
111)What are the six n1¥ more 71 who can’t marry 1°2a8% 1nx5?
My (R
PR NWR (2
IR MR (3
VRN AR (T
PR TR NWR (7

PIRM PR DR ()

112) What is the din of 77117 My nox?
TNV QY 21207 19K 190w W APRW 1100 Mnn (R

113) What are some of the dinim of M7y n7X¥ according to w"2 and 77"2?
19797 NN 0120 WY DR 3707 72091 7851 oX 7"'wn) 02°na% o — v (R
7% MOKRY 7HYAIW 397 7709 02°°N1 DAR 71707 7w Axhn oXY 0270k 00K 7% (2

114)Did 7"21 w"a separate from each other concerning 1"Xw°1 and n77Y because of
their arguments in din?
W"2 MI22 WIRI RS 7" PIRD 0207 P10 PR Pra’ 013 w'ahT avem PRSI Wanl RY (R
Jaxn 7"2% VTN 1 w2 PR 125 20nn 01T 112201 MY C1aw 9"'YR
W"2n WIn1 K 721 000 7m0 01w 100 170 PRWADR Wwan1 XY '3 00T P (2
7% YT A 17D
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115)What is the reason *Xnw n°2 allows M7y 07X to do 012°?
02°°NN P 7970 KD 2"HYRY N0 W KT T WORY XM NN DWR 700 K2 W7 (R
TR 791N R NWR 217 19°0K) MIXKA 21PRa ROW MY NI T MOR DY 50 0K PR X2 (2
YR DIAR 0K PR ROW 1100 MY N0

116) What are the examples the X773 gives that there is a X"77 nIX at the end of the
word instead of a 7" at the beginning?
yinninta Rty T 9a By alh iy ta ity talrs O €

117)How do we 1w17 the 105 of x5 nan DWR 70 K7?
2127 17 P77 PIWD An2°2 PODIN YT PRY 11WIT KDY ,02% My pOx b — v (R
NN NK A01IRY NI277 a8 Hw R MR "
PIWY 712°2 709N PYITR PR T17K 221 ,NN2 0w 701K MATY mIpon — 92 0 (2
("7 WK 7T 1T M02Y)

118) What is the MoK of 177300 R5?
nn 5y aMan awyn RS (R
MTIR M7 WYN &Y (2
ITIAN W ITTIAN 2127 9127 797 TR 027 TAY P o7 (3

119) Why isn’t different days of 72°37 MR p a problem of 1771ann R?
MO PR MMPH 22 (R

120) Why isn’t there a problem of 1773nn X7 this that 709 27¥ some places do 72X
and some not?

NN SNWD ARNIT TOW 0K P ITTIANN KD OV PR 7322 WP WO 7N (X

121)Why isn’t there a 177ann X2 wwn in this that some places 70K to do 7871 on
7" 9H?
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79897 17 PR IR IR WORY W 7N

122) Why isn’t there a problem of Y7700 XY in MY NX where P10 7" w"a?
071272 WMWY R — 5"
TR PT N2 PN ORI ,MONR PR DR YA 0°1°7 ON2 W AR NP7 WY 120 [ M
MONR W 7" PN WA W'D PTIM PRNT AR YA

T

123)Did *&nw n»2 do according to their din of nna>>nn MY NIX?
WY — 1Y "WYX - 5"
WY 7"A% avum 2177 707 72w Wy KD 7" avem "2 7990w P N2 o7p vt R
DY PITINA WAW 1D
"0 57207 WY 7"n% avy) .20 9 9P N2 T WY KXY 2072107 2P N2 AR 2300 R
237 N22 DOPAWN PRT YW

YW 737787 X721 "M NIP0MI

124) What is the din of nawa mx» >7°won on a Mx»n which 1s naw am7?
Naw 2°mM7 NN PWwIA ... X" Y 1MpPRA2a
naw omnp IMWYH WORY 11 M7 IR Y

125)Is there a wwn of 1771300 X2 on NAwa M¥n *Pwon?
NIIPR '22 W PR TIP0MY TR QPR 2WNI MAIPA "2 990K NawT X anwn 1'0

(x
(2

(x
(2

G

(7

(x
(2

(X

126) What was the reason 12X ' in some places was 71 P0%0» on Naw and some

places he didn’t?
R2W 121922 2132 R0 130 M DY 1720 2Wn 2aR %P PRY IWAY M2 020 Dnka
77 ' Nwa Hudnk

127) What is the din 1y n¥ that married P15 according to w"a?
1’1&17 32777 TN PR 1207 2211 2R K'Y
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oW °" 10D 1207 (121707 2109) DML 077 AR NP W
TIR? 92977 AN WY 0207 2ran v'b

A
128) What are the different cases that 7"21 w"2 argue concerning M K?

MMwd 7"21 pRa»Dn W' Y NOX

WX 7" WP W' 10101 MR ART2 DA

9100 71"21 WD "2 (A1NI? 72°ND PR TRY TA1NI) 10 VA

AT ANWRY 205w YR 200w 1K L,MIRIWI AR 721 DIRRR MOMIR P w'2) WK NWR OO

(1w v X 17""2% WD v W"2% 7Y TN PO0 A1) A7 DI NAR OR O T

W VI TIX A2 W 03 WA PTNDA MY I INWR W

A0 — "2, — WA PRYTR W

a0
129) Is there an Xy for My n7x that will help for 7"21 w"2?
TYW 7970 ... 1M2°°N7 XYY LMW 1pN? A3 120
D1°7270 W2 WY RD MR OR 199K ;720 122N MNWRIT MIRD V0 RY AT IR
I°2Y27 10RAOT WOV AXHn MwY R"RT 7"22 PIWT IRWOIW 2RXY NMNXY 29I 1R

130) Why did 1971 "1 want a n277 17X to come before him?
"2 7500 Y A7 XYY 1Y 000270 v wy 7"
X917 120D W 130 " ROXII7 711201 WD RwaR 80 WY RD 7"

131)Why did 9&*%3 327 do ©12° on 102 n1x?
NOIPOR 3077 3™ PW 02T WY 1Rk 200K w20 3" 1207 70
7"Wn 712 99977 RY 720 "N P a0 PR A B N2 0720 19191 wan 1R A 73ponk
NN NAX 712 972 AR DMK MYV 1IpR AN
5"g 3"WwnY FI0RI AR AYW 3% 70T 190 2"DYR 2OIARDY N2 WA AR P07 N2 7Y
70T PR
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SRIN PR DONRDY NIV PR M0 T"W0 11PN KOW N2 ORI ORIN 70 RNY R 1w (T
7N NPIPYR PN 0"YY k022

132) Why did ¥"1 separate from an 270X both *1y qwym “1w Wwyn?
VAW 'R PNRY 7"7 w2 nww wwn 1" (X
VW2 1"D IR VAW 'R NPNR? 7" 7"2% oK ¥ panon maponh (2

133) Why did *&nw n°2 open up the 7127197 for a 72102 1w MR? TIX7 10p?2
112102 VPR 2707 AT W WYY 70 (X
N q’mnb %7 P NI ARIIAW 172 2777270 WY IR RPI1T 33P0 (2

134) Why was w"2 make the connection between X17> NP and a mp»n from nI91BW
117 to 19177 20 NN w?

MMpPn 217y MY 1At v"a? o727 w2 Wy 7' (X

TN NP A DX M2 MR IRIAW 1193 WY IR XY 13pon? (2

1)
135)Why didn’t 1217 ' want to accept 2°n°7 from ?17% "1 and what happened?
RNLI AW IRV 2297 1WINT 2p3 RAWw 7"'20 WY 00w Yw Tnhnw AR o2 1w (R

R0 22P% WM 1K 17" 23T 2AW N0 P TP N 1A P1TE 2w (2

136) What are the n1°X1 that *X»w n°a did like their words 71p017?
WY NAR R 7" 00270 Wy Pwyn 5o 3"HYRY WA TNYN TN CIMnn B ' RInT (R
T°N127 11770 27127
X7 1% WY XD ORY N2 0% 720 7990 0 v M RNl (2
19 13721 @12°°% N2 DAY TN PR 0T A RDITY (A

137)What is the p0 according to w"2 by m1X °12 that were PIWw? RWw*1?
MW AN0RW T W'D 2MD T2 909 MW RMOR PRY TR 0 710Rn 1P 2T o (R
237
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NYLINN TR PIWD 7720 PR NYONNN TAXY TIAPRT PO WY IR

138) What is the din %2> n1w n17X "12 according to 17"2?
QOTAN 077 NN 0270 Tan w0 7'
aprasbtoRrila Raknivaial W Wollo kol ntti s raRrilvB i7al A b

139)Is the NWwIIa 201 791 a 71727 01o?
T3APRT 1170 POIR W IR 21D 7917 A9 730981 1R 0712 OR MY DX 7Y W poon
nYomn anyy

140) Who was 2°n» a 0122 nan nox?
7307 " PAR 707 2701 01°0777 12 X017 M 70

141) What three things did X017 "1 say over in the name of &°2377 *an?
JMOKX N2i7 DX
NPy P WY 2WYR AR NAY
(AW 2TARY PRWWIN PRT W) QOTIMINm QTP 200 YA

142) What was the reason X°20%1 111 "1 you can’t be 0°73 22pn from Tn7n?
QAN 7937 DR N2 DY KT 72V 2™MDY 0201 DRAWY D132 WRW a5 7Y
o717 D121 DROWY M2 IRWIW 2741 2°9w10% 213 10101 1277 NYwa

143)Can you be 0°7x %apn from o> nap?
Q77 2°Tn DOORIWY WWN KD

144)What is the din of 2"y 0°X277 0°n3?
0°M17v 2707 MY YW Mmpn
DORPVY MDY 1T 177N IR A W2 DX NP1 Opn
TN 9w YT D RNR NPT I 2NAT TV 1AM N 1IN
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145)Who said >nipt o3 *n>on wa?
(22 IPT R ROW T TIT MR PRI L1PIDT AT PRT 1"12p 1R 7RY) 29WwR W IRORT (R

146) Who was it said 771 95 2¥ 9% w19 17°?
WX 197WY 77N 790 Y 1191 077 $2°77 00V 10101WD 2R Py (R

147)On who was it said 1°7% 1°2°20 2p3°7 "7 mx?
DRIWS 212 DOPORAW RITI DD X1 DY (R

148) Are we wwIn for a1 7212 2™y WITR?
TR MY"ap 2pna X9 PWWIN 20aWT DOWY SW Myeap opna CoX M awa anm M (R
O™ mn O°HRIWS O aNYPAP 2IPRAT A1 M D20 191 WD KA1 WOIDT 90T PwwIn
.0"19Y 7132 0°2210 NTAW 5Y XA DRIWST 003 270 4w PUWIN PR YXIMY awa 01 (2
T NWH NPY AWYIR 1T KD T ININD 209K DRI N2 DY RaT a"om
OMYITR 1WRPOM 2N 00V WY Oy

149) What are the o°v12pi nmpn of o°vaw:s nwy?
iralt
271 (2
P1a (O
MmN (7

RA)
150) 58w that married a *1x what is the child?
°19% 2NOW 1N Yy '|‘71TIW NIYAWAY °0N X2 2703 XY IARN 732 DR 7’0 °3 2°N37T ORI (N

1127 30N XY N2

151)A yid marries a goy what is the 727

25
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ORI 12,730 M
9°0N X7 2°02 X1 790 %0 22007 171 20V 12, ORI

(X
(2

152) What city would they make a v"y when it is 271 because of the o n that

were mixed there?

291 TVANR PO R™Y TN P 290 K2 K™Y 700

153) What does the city with the name X°19777 come from?
ow> 22119 171097 99 KT "
QWY 77193 102V NADWH A PRY 1 93 RNM2

154)In what way is 19777 worse than 0°17°3?
TIPN PR K197 991091 73PN 27 W 2033 CT

W PO
155)What is the case of ¥?1v2 7o XPW 1nX nwX that is 7n7% nv1D?

UK TIV 2 WO PRI DWR DR OIS ART 02 a8 W0 IR 202 7 'R Dn ook "2
0192 K72 NRYY J73°NW SWOHW KT °197 2OWIT SNWw 19911 ,n
NN2°NN R9Y NEOWT 21w 1R DWR DAY AR WY 7 0Iwn ORT OX

o

156)How do we learn out that 1%1w2 17°7 K7W 11X DWW is 02°9 71087
0?2 NAR 722 0772 70w YT 21K 12w 0D

157)How do we know 012° is only by 2&:1 11 2nR?
9132 DO 1OWIT PI 20NN 1AW 0D
2PY 120 TINR — IR WA
IRD YT DA 177732 00 2120w 9"YR ORI 2RD AR TR 70 IR 1IN 1NN 907N
(212> W 1°2R °1IR2 OX) VI?A TIAD2 70 DOAR P AN INA IR P 70 MW N0
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158)Is 012> NP1 considered like a wnn mwR 17p?

NR Y1217 IR 02 PIRWY 7Y 70127 PR 12 00K 2277 7120 SW NIk IR YR oX (R
YW 2"210 PO YRIMAW LAPT PR D°1210W 10I1D7 MM D702 LAPT WO N20W 102
izl

AR TOKRY WNWRD MR VW IR°T PRY MM 27 ORK2 MR OR AR 02 w2y (2
MR TOR? INWRD MR YW RTY TAR MOK AT M .0 NN

TP PR T2I07 7°771 99°) IR 2R 'R IR 2199 77991 12 720 R2PY M 00771 N9 e (3
(7979 9127 IR AR °197 79912 P YW ' '22 PR IR 12 797 9120 K')

159)21 that says nX2 902 Annw 02° 0w why didn’t he just say 71 1X?
TN AT 70T T2 DR AR PR MI? X0 K LIPT PR OINR 02°2 1990KT 170 ¥ (X

7127 N1¥A HY2Y TOKRT 1190 1R 771 221N 199OK KA

160)7377° "1 who says 7m%2 MOR 7nnw 02° N why didn’t he say npr w°?
AP°Ta AYPET AR N AN IMIR? DA TR WY O X7 70 (R
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